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—JlzEoaE 79,903,000 * 5% 3,99
OFLMEEIY 2121|
35,0009 * 6% * 22 * 523 21,840
201 Yer2 Yyl 29,645 19,400 10,245
01 At 2l 17,900 19,400 A1,500
OEATES £22 29| 5,000
OX2A FIIAHS 2| 2,000
—ug 300,000¢ * 122 3,600
~&X 700,008 * 122 8,400
OXBA2RX 22= Y|
30,0009 * 30% 900
02 IT2YH| 11,745 0 11,745
OFFID SHZ2IAAE SXR4
167,780,008 * 7% 11,745
202 04t 4,200 4,200 0
01 2Uhoitl 4,200 4,200 0
egg ARSI 4,200
405 THAHE S 73,300 70,000 3,300
= 60,853
Al 12,447
01 RAUSEHSHI 3,300 0 3,300
OM 7 3,300
~®AUW SHUR W 300,002 * 2f 600
~ZOHARE 2 9000008 * 374 2,700
02 SHTY| 70,000 70,000 0
OHYTHB TAHPALl 10,0002 * 7,000 70,000
= 60,853
Al 9,147
HUCHE 29 61,160 59,870 1,290
201 Yer2 Y| 38,270 33,040 5,230
01 Attt 6,290 5,200 1,090
OCUXNEREN HALBE g 4,500
OOXEX2A TV 42t 50,0002 * 7CH 350
OUXNEXES BIIHF)| A
60,0002 * 204 * 122 1,440
02 B2 31,980 27,840 4,140
OsM23 1,500,0002 * 122 18,000
OIPTV A8 R 55,0009 * 122 660
OMMA HM SXS4Hl 210,008 * 128 2,520
ORHAHY ABE 900,000 * 122 10,800
206 T2l 11,250 15,790 A4,540
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01 HEHl 11,250 15,790 A4,540
ORFIDE B0 7 70094 * 7,00004 4,900
ORFIDE 1T 7 502 * 7,0007H 350
OFFIDE SHEIZIE 7
1,50020 * 4,0007H 6,000
207 HPIHL Y 1,440 2,040 A600
02 & &f Ll 1,440 2,040 A600
OCOXNEXREA HA( 202 RN+
120,008 * 122 1,440
405 THAHE S 10,200 9,000 1,200
01 RAUSEHSH| 0,200 9,000 1,200
OHIEA 2 30,0002 * 3005 9,000
OCIXIEREA DDEaI010f 2]
150,000 * 8CH 1,200
GFIM TN 2Y 689,441 590,002 99,439
= 43,500
= 50,000
Al 595,941
HPHE XA 474,889 388,261 86,628
= 43,500
= 50,000
Al 381,389
DTEMD HRAIR ZXA(SHF2 M) 87,000 0 87,000
= 43,500
Al 43,500
101 2124H| 66,340 0 66,340
= 33,170
Al 33, 170
VIBEBTEES TP 66,340 0 66,340
OB AB2Y QI (F5) 51,340
-2 30,0002 * 5% * 2502 37,500
= 18,750
Al 18,750
-f25Y+g 30,0002 * 5% * 52 7,800
= 3,900
Al 3,900
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-501 2EE L M| 4,240
= 2,120
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OOH A (2+41) b 1,500
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02 BB 15,000 0 15,000
OO B2Yy B3R 12,000
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OO AZ2Y AL Nl 3,000
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Al 1,500
03 A2 | 2,660 0 2,660
OSZ 2 oRIZ20Y 29 2,660
= 1,330
Al 1,330
REASY 325,581 311,653 13,928
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Al 275,581
101 124l 190,990 183,461 7,529
04 JIZHH2ENSES 190,990 183,461 7,529
SRS 152,157
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e 70,000,0002 * 4/12 23,334
-R2EY+Y 35,0009 * 8% * 52% 14,560
—oRS4Y 35,0002 * 8% * 152 4,200
—NZeIRR LY
35,0002 /8 * 1.5 * 8% * 2512t * 122 15,750
— 24l 120,008 * 8% * 122 11,520
= Db Xl &b 50,0002 * 8% + 122 4,800
k- ESL] 10,0008 * 8% * 23] 1,600
—JlzgolaE 127,844,008 * 5% 6,393
OEMEY Q12| 9,713
-Jl22 35,0002 * 1% * 2002 7,000
-R2EY+Y 35,0008 * 1% « 40F 1,400
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—sHEE2 8,750,008 * 11% 93
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